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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.
Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any T
: , any THREE are to be attempted
choosing at least ONE question from each Section. ’

: The number of marks carried by a question | part is indicated against it.

Aemmiers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No

‘marks will be given for answers written in a medium other than the authorized one.

] inq‘ﬂea#ans, wherever specified, should be adhered to.
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How many types of gametophytes are found in Lycopodium ? Why is it
difficult to collect such prothalli in nature ? b45=10
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How does heterocyst differ from vegetative cell 7 Mention the factors
controlling its formation and add a note on functions of heterocysts, G+6=10
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Explain how the numerical expression of data is utilized in plant
systematics. 10
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“Mycoplasma causes serious diseases in humans, animals and plants.”
Substantiate the statement with suitable examples. 10
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How does the infection of a pathogen affect the host plant physiology ? 10
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Enumerate the types of fruiting bodies of Ascomycota and
Basidiomycota. Write the various steps of ascus formation in
Ascomycetous members with suitable illustrations. 10410=20

Wmmmmﬂrﬁ%w v s 3 fafvre i o & ¢ faaon Af 1

What are the various modes of infection and dissemination of F p-
'. es caused by viruses ? Describe, e
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Describe the ranges of thallus organization in the members of
Chlorophyceae.
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Explain holotype, isotype, paratype, lectotype and neotype. Mention the
advantages of binomial system of plant nomenclature. 10+56=15
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Describe the causal organisms, disease cycle and control measures of
Early Blight of Potato and Blast of Rice. 10+10=20
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What are eusporangiate and leptosporangiate sporangia ? Classify the
sori based on the mode of development of sporangia in ferns, with

suitable illustrations. 5+10=15




Q5.  Freferfiae sreiras v @1 I eI 150 wreE # Hif -
Answer the following questions in about 150 words each :

(a)

(b)

(c)

(d)

(e)

SISt # Fiertat gt w5 avis Fifsn R e =7 fior s |

Give an account of post-fertilization changes leading to formation of
seeds in angiosperms. 10
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What are the various anomalies causing anomalous secondary growth in
dicotyledonous plants ? 10
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Name three important Indian Botanical Gardens and discuss briefly the
role of botanieal gardens in modern plant research. 3+7=10
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Mention the botanical name and family of

plants from which Aconite,
Isabgol, Ashwagandha, Vasaka and Ipecac

are obtained. 10
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What is embryo rescue ? How does this method help in crop
improvement ? State two disadvantages of it.
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Write the botanical name, family, morphology of useful parts and uses of

the following plants : 20
(1) Safflower

(ii) Fennel

(iii) Chicory

(iv) Tapioca
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E:phin.ths-va_rious steps involved in plant protoplast culture. Mention
the Wm:hnntntinns of this technique. What is the role of somatic
hybridization in crop improvement ? 5+5+56=15
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propagation methods ? Give an account of the. app dt;nons |
micropropagation in crop improvement and mnservat.mn of en ﬁgi::g n .
plants. Add a brief note on the challenges of this technique. +1045=20

[ 5

(b) RNV UF SR § siar vy i | StEwwer i Hie AT THE

e W feoguft difse |
Distinguish between polyembryony and parthenocarpy. Classify
parthenocarpy and add a note on its significance. 5+5+5=15

(c)  WISfoIgH ¥ IeqreT 1 Wk i uw wurEr A | arsforgw avi-gt @ AERE
m%wﬁ%@ﬁwﬁ'.ﬂmﬁgam%mmﬁmﬁmwﬁml
Give an outline on the process of producing cybrids. How do cybrids
differ from hybrids in terms of their genetic composition ? Comment on
the potential applications of cybrid technology.

5+5+5=15




